
WILDERNESS PRODUCTS
JK ADVENTURE RACK

PASSENGERS SIDE LADDER

PART#44500

~j

PAGE 1 OF 1

1 - LEAVE ALL FASTENERS LOOSE FOR EASIER INSTALLATION
2 -INSTALL LADDER TO ADVENTURE RACK AS SHOWN
3 - ALIGN LADDER AND TIGHTEN ALL FASTENERS

PARTS LIST

1 - ADVENTURE RACK LADDER
1 - CONNECTING BRACKET
5 - 5/16 X 1 CARRIAGE BOLTS
5 - 5/16 FLATWASHERS
5 - 5/16 NYLON LOCKNUTS
2 - 1 II BLACK PLASTIC PLUGS

INSTALLATION INSTRUCTIONS

~-~ ---, I i

IIl·~ ' ~ ~, '
: ~'

~)--~ )
PASSENGERS SIDE
REAR SUPPORT

BLACK PLASTIC PLUGSo

ROOF RACK LADDER
BRACKETS ( PASSENGERS SIDE ONLY)

LOWER SUPPORT BRACKET

CONNECTING
BRACKET

REAR MOUNT

5/16X 1 V
CARRIAGE BOLT I,,

1 U 'i"
5!16=LATWASH"R ro

5/16 NYLON LOCKNUT

FRONT MOUNTING

CONNECTING

: !C)'1 UI' i
~ ~
5/16 FLATWASHERS

5/16 NYLON LOCKNUTS

LOWER MOUNTING

5/16 FLATWASHERS
5/16 NYLON LOCKNUTS

5/16 X 1
, CARRIAGE BOLTS

'~'~

PART # 44500 GARVIN INDUSTRIES 316 MILLAR AVE EL CAJON CA 92020 (619) 440 7415


	Page 1
	Titles
	PARTS LIST 
	PART #44500 
	~j 
	, 
	'~'~ 
	1 U 'i" 
	: !C)' 
	1 U I' i 
	~ ~ 
	~-~ --- 
	, ' 
	~)--~ ) 
	INSTALLATION INSTRUCTIONS 
	o 
	PART # 44500 
	GARVIN INDUSTRIES 316 MILLAR AVE EL CAJON CA 92020 (619) 440 7415 



